BE Lt hREAE

4-1. WHE|1 a 1| x,|=| | |BEHEZAE, Wa=__.
I 1 a)lx -2

X, +x,=a,
X, +x, =a, . s
TR, WS A, a,,a,,a, BRI

X, +x,=a,,

4-2. LT REA
X, +x =a,.
43, WenWNHERE A FPEBIAERE A7 = 0, %5 &£, E,, 8, & RAFFRLN T4l AX = B
(BRI, UK I [ 55 IR 1 D5 FR 4 AX = O FOJERE AR R & LA E R AR 1 &
4-4. WHFIREET A AX =0MBX =0, Hh A, B¥ ymxn 5, WL T 6

RN EIPRE
(1) #5 AX =0 HIfis2& BX = 0 59f#, W r(A)> r(B):
(2) # r(A)= r(B), N AX =0 KR4 BX = 0 [\fi#;
(3) % AX =05 BX =0[AfE, W r(A)=r(B);
(4) 4 r(A)=r(B), M AX =05 BX =0 [[f#.

(1+a)x1+x2+---+xn=O,

2x, +(2+a)x2 +-+2x, =0,

4-5. WAHFIRENETT A (n>2). &1 a FAT{EN,

nx, +nx, +~-+(l+a)xn =0.

WA A AR, IR ISR
4-6. AEFTIRENETr RE4L
=2x, +x, +x; =2
X =2x,+x,=4

_ 12
X +x,-2x,=4

24 A BT AR 7
4-7. R—AFFREH T TRA, MR N E =(0,1,2,3)",&, =(3,2,,0)".
X, +x,—2x, =-6, X, +mx, —x;—x, =—6,
4-8. WHP A (D J4x,—x,—x;—x,=-1, (D { nx,—x,—2x, =—11,
3x,—x,—x;=3. X, —x,=—t+1.

(1) SR (D) i fig
(2) m,n,t NAMER, (IT) 5 (1) Ff#E.



4-9. SR N HIFFIRENE T REA
x, +x, +2x; —x, =0,
(1) $2x, +x, +x, —x, =0,

2x, +2x, + x5 +2x, =0;

2x, +3x, —x; +5x, =0,
3) 3x, +x, +2x;, = 7x, =0,
4x, +x, —3x; +6x, =0,

X, —2x, +4x; - 7x, =0;

x, —8x, +10x; +2x, =0,
(5) 2x, +4x, +5x;, —x, =0,

3x, +8x, +6x; —2x, =0;

4-10. SRAE T HIARTEIRE M T 22

4x, +2x, —x; =2,
(1) {3x, —1x, +2x, =10,
I1x, +3x, =8§;

2x+y—z+w=1,
(3) Q4x+2y—-2z+w=2,

2x+y—z-—w=1;

X, + X, =5,

(B) 12x,+ x,+ x;+2x, =1,

S5x, +3x, +2x, +2x, =3;

x, +2x, +x;—x, =0,

(2) {3x, +6x, —x, —3x, =0,

5x, +10x, +x; —5x, = 0;
3x, +4x, =5x; +7x, =0,
2x, =3x, +3x; —2x, =0,
4x, +11x, —13x; +16x, =0,
Tx, —2x, +x; +3x, =0;

(4)

2x, —3x, —2x;, +x, =0,
(6) <3x, +5x, +4x, —2x, =0,
8x, +7x, +6x; —3x, =0.

2x+3y+z=4,
x—2y+4z=-5,
(2) ‘
3x+8y—-2z=13,
4x -y +9z=-6;

2x+y—z+w=]l,
(4) 3x-2y+z-3w=4,
x+4y-3z+5w=-2;

x, —5x, +2x; —3x, =11,
(6) §5x, +3x, +6x, —x, =—1,

2x, +4x, +2x;, +x, = —6.

411, B, B, RAEF KM AX = BTN, a,, o, S0 5 AL 3

iz, W AX = BdfgEn RN

4-12.% A, B# & n 7k, HAB =0, it r(4)+r(B)<n .

4-13. CHIa,,0,, 0 T IREME TR AX = 0 — DAl R, &4

ﬂl =ha, thLa,, ﬁz =ha, thay,

WA ARERES B, By, B, B AX =0 f—NEEAE A,

4-14.C5 AN TR A = (a,,0,,a5,0,) » ay,a,,ay,0, 88 48R E, B a,,a,,a,

afrx, a =20, -0y, MEL=a, +a, +o,+a,, RKEWTTEA AX = B 1@



2x,+3x, —x; =0,

4-15. wWUoCFr ket A (1) jj{ HE sy —MHoesrike

X, +2x,+x;—x,=0.

MRl (1D MR N e, =(2-La+2)", a,=(-12.4,a+8),

(1) SRR (1) —A SRR
(2) Ha AR, JTRE (1) 5 (D HIERASLR? fEaEEASRN, Kiis
BEL Y



